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6 /6 6\/5 =9 10. If x° +%=38.Findthevalueof x3—% 1S.
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(a) 3 (b) 4 y = g
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(c) 12 (d)1 (a) 3 (b) 4
()5 (d) 6
\/20+\/29—\’12+\/19—¢§ =1 14. If (x* + x*)=322. Find the value of (x—x") is
(a5 (b) 4 (a) 2 ()5
(¢)3 (d)2 (c) -2 (d) 4
7424012 =2 15 09x09x09+02x02x02+03x03x03-3x09x02x03
" 09x09+02x02-+03x03-09x02-02x03-03x09
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(c) 0.8 () 1.0
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1 . 2x7 42
22. If x + — =2 . Find the value of

) a*+b*+ab
17.1f g =11 b=9. Find the value of —————

1 1
a’-b’ 25. If (x3 —?j=36 than the value of (X—;j is
1 (a1 (b)2
- b) 2
@ 3 ®) (©) 3 (d) 4
1
1 S
= 1 X
(c) 20 (d)20 26. If Xx+—=4 then the value of — X
X x*=2x+1
18. If x=19and y=18. Find the value of (a) 52 (b) 26
ey (c) 64 (@13
£y 27. §/1+\/§g/3_7_\/§ is equal to
(a) 1 (b) 37 @ 2-2 (b) V2 -1
(c)324 (d)361 (©) 1 (d) 32242
1 1
19. If (x+—J=2.Findthevalueof X 28. L_,_L_,_L_,_ ............. L:?
X X 1.2 23 34 11.12
3 b) 2
o1 @0 N by 12
@ g ® |,
20. If 2x+%=1.Findthevalueof x3+i3 11 11
* * © ¢ @ 10
13 -11
(a) o (b) - 1 1 1 1 1 1 1 1
8 8 29, —+—+ bt —t—="?
20 30 42 56 72 90 110 132
© = @ 2
C) o e 1 1
8 s (@ 3 (b) 5
1 1
21.If 2x—— =4 Find the value of 27x’ —— 1 1
3x X - dy ——
© ¢ @ 15
(a) 91 (b) 234
(c) 243 (d) 242

30. If ,/4096=64 then the

value

V40.96 ++/0.4096 ++/0.004096++/0.00004096
X 3x? +5x+3 is
4 1 (a) 7.09 (b)7.10
(a) 11 (b) P (c)7.11 (d)7.12
3 1 Jxr+4)+(x-4)
() 1Z () 25 31

JIf \/(x+ 4) _\/(x_4) =2 then the vlaue of x:

| ) (a) 2.4 (b)3.2
23.1f x +—=2.. Find the value of Vx t (c) 4 ) 5
2n +2n—1
(a) '\/5 (b) 2 32' |:2n+1 _ 2n :| = ?
(©) V2 +1 (@1 |
| | @1 ®) 5
24. If a +Z+ 2=0 then the value of @’ — i is
3
(a) 0 (b) 2 © 7 (d 0
(©1 d 2
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33. \/74+\/700x\/42+JE+ 42+ =2 41. If a V32, V342 then the value of
TR
(a) 12 (b) 10
(©)9 (d) None of these a_z N i .
34. Which one of the following is at least? b a
V19 = 17,417 =15,J15 =13,413 =411 () 970 (b) 1030
(@) V19 -417 (b) V17 -+/15 (€550 -
a) V19 —+/17 17 —+/15
70. If @’ —b* =56 and a—b=2 then the value of
(©) \/E—\/B (d) \/B—\/ﬁ a? + bt is:
35. Find the value of- 1 (a) _12 (b) 20
[ 2x8+6x24+10x40+.... }4 (c) 18 (d) -10
5x125+15x375+25%x625+.... | , 1
) 42.1f 4 +— =98, then the value of @ +? 1s:
a “ a
@ 7 ®) 3 (a) 535 (b) 1030
3 3 (c) 790 (d)970
(©) 7 (d) 5 43, If x=2+ﬁ,y=2_ﬁ then the value of
36. Find the value of P
3 3 is:
(1—%}(1—%}(1—%} ....... (1—%}(1—%) B 7
3 4 5 11 12
7 7
13 15 @ 35 ® %0
@) g ®) 15
7 7
21 5 13 © 15 Oy
© 53 @ 7

1S:

1
44.1f Sa vl 5, then the value of 9,2 4

37.1f 3x? —4x -3 =0, then the value of ¥ —— is: 25a°
x ® 34 ) 39
3 4 a5 5
(@) 7 (b) 3
42 52
()3 (d 4 (c) S (d 5

38 x+ 122 ﬁndthevalueof(x2 +%J(x3 +L3J is: 45. If 3=1732 then the wvalue of
X x x

()6 (b) 4 3+4/6 Ny
() 8 ) 2 543 —24/12 /32 +4/50
5443 543 (a) 4.899 (b)2.551
39.1If 2\/_ = \/— \/— \/§+ \/g , then the value of x (c) 1.4141 (d)1.732
IS.

(a) 30 (b) 15 46. If x=§, then the value of \/1+ x ++/1—x 1S:

(©) /15 (d) 6 |
40, 1+876542x876544 _, @ 75 (b) 243

876543 x 876543
B ©1 © V3 ()2
(©)2 (d 3
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47.If x” +— =119 then the value of x—— is: 55, —+—+—+—+—+—+—+—=7
X X 9 6 12 20 30 42 56 72
(@) +4 (b) +9 1
(c) +3 (d) +2 @) 5 (b)0
48. If a=ﬁ+1,b:ﬁ_1 then the value of )
L © 3 @ 5550
a+l b+1 _
(2) 9 (b)3 36- V0.4 =2
(©)1 (d)2 (@) 0.8 (®) 0.6
49.If x=3+2\/§ then the value of L;LXZH 1S: (¢) 0.7 (d) 0.9
X
S
(a) 192 (b) 240 57- 30,037 =7
(c) 204 (d)212 (a) 0.3 () 03
50. If x’ +y’ =35 and x+y =35 then the value of ©) 0.6 ) 06
I 1 2
— e _
[x yJ 1S: 58. 1+ 3 =9
1+ —
4 b 3 1+g
@ 5 ®)
5 3 7 4
© ¢ (d) 5 @ 7 (b) =
+4/3 2-43 7 3
51. If X=£ and Y 2%7 then the value of (©) g (d) 7
X+ 7 4y is: 59. If a’ —b’ =56 and a—b=2 then the value of
(a) 195 (b) 200 a’+b’ s
(c) 175 (d) 185 (@) —12 (b) 20
1 AV (c) 18 (d) -10
52. If x+—=3then the value of X" +— is: _
X X 60. 0.234="
(a) 123 (b) 126 116 234
(c) 113 (d) 129 -2 bl
@ 495 ®) “gg
A
53. If 2 41 =2y then the value of x* s ©) ﬁ ) @
¥’ =3x+1 990 99
(a)2 (d) -2 61.
©0 @1 LU NS SRS SRDU S
A\ 1 B B VTl Yois 5d
54, If | X +; =10 then the value of X +F is: (a) more then 3 (b) 0
(a) 2744 (b) 2702 (c) less then 3 (d) None of these
(c)2704 (d)2742 2. (2+ 2)+ 1 N 1 _9
2442 2-2
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63.

64.

65.

66.

@®) 2+\/§ (0)2 67. The value of 5§X4%+13%+8%—§is—
©) 242 @ 2-42
LS SRS SR SR (a) 2% (b)l%
f2+1 f3+f2 \/Zl+f3 """" MW@ ' (c) 23 () 10
23 i’ % e o5 BTIXBTIXBTI+427x427x427
" 873x8.73-8.73x4.27+427x427 AL
Which one is smallest \/§,{/§,\/§,3\/Z )
(@) 43 () 2 @11 ®) 15
d) 3
(©) {2 (d) 3/4 © 13 @ 9%
69. What is the value of—
1 =9 4x4dx-4—3x-3%x-3
1
2+ I 8x-8x-8—-6%x-6x-6
3+1* (@) 0-25 (b) 1.75
s (c) 1-25 (d) 0-125
19 43 1 1 1 1
@ 73 ®) T D (pﬂ[l_gj@_ﬂ ..... [1_%}%, then
17 16 what is the value of x?
(©) m (d) 97 |
What is the value of (a) 7 (b) 7
1 1 1
_— —— —— X X _— 1
[1 j[l 8}[1 9) ..... [1 19}» 0L -
s .
@ To ® 19
17 2
(©) 3 (d) >
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